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Roll No. ............................. 

OLE-92538 

B. Com. (Hons.) 3rd Semester  

w.e.f. Academic Session 2015-16 

onwards (Current Scheme) 

Examination – April, 2021 

CORPORATE ACCOUNTING - I 

Paper : BCHN-3.02 

Time : Three Hours ]            [ Maximum Marks : 80 

Before answering the questions, candidates should ensure that they 
have been supplied the correct and complete question paper. No 
complaint in this regard, will be entertained after examination. 

iz'uksa ds mÙkj nsus ls igys ijh{kkFkhZ ;g lqfuf'pr dj ysa fd mudks iw.kZ 
,oa lgh iz'u&i= feyk gSA ijh{kk ds mijkUr bl laca/k esa dksbZ Hkh 
f'kdk;r ugha lquh tk;sxhA 

Note : Attempt five questions in all, selecting one 

question from each Unit. Question No. 1 is 

compulsory. All questions carry equal marks. 

  izR;sd bdkbZ ls ,d,d,d,d iz'u pqurs gq,] dqy ik¡pik¡pik¡pik¡p iz'ukas ds mÙkj 
nhft,A iz'u la[;k 1 vfuok;Zvfuok;Zvfuok;Zvfuok;Z gSA lHkh iz'uksa ds vad leku 
gSaA 
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1. Write short note : 8 × 2 = 16 

 laf{kIr fVIi.kh fyf[k, % 
 (a) Preliminary Expenses 

  izkjfEHkd O;; 

 (b) Capital Redemption Reserve  

  iw¡th 'kks/ku lap; 

 (c) Sinking Fund 

  flafdax Q.M 

 (d) Bearer Debenture 

  okgd _.ki= 

 (e) Time Ratio 

  le; vuqikr 

 (f) Non-current Assets  

  xSj pkyw lEifÙk;k¡ 

 (g) Meaning of Holding Company  

  lw=/kkjh dEiuh dk vFkZ 

 (h) Consolidated Balance Sheet 

  ,dhd`r fLFkfr fooj.k 

UNIT – I 

bdkbZbdkbZbdkbZbdkbZ – I    

2. Explain in details the provisions and Accounting 
treatment of redemption of preference shares with the 
help of example. 16 

 ,d mnkgj.k dh lgk;rk ls iwokZf/kdkj va'kksa ds 'kks/ku lEcU/kh 
izko/kkukas ,oe~ ys[kkadu izfØ;k dks foLrkj ls fyf[k,A 
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3. Anant Ltd. has authorised capital of Rs. 8,00,000. The 

company issues 20,000 equity shares of Rs. 10 each at a 

premium of Rs. 5 per share payable as : 16 

 vuUr fy0 dh vf/kd`r iw¡th 8 yk[k #0 gSA mlus 20,000 lerk 
va'k] 10 #0 izfr] dks 5 #0 ds izhfe;e ij tkjh fd;k rFkk jkf'k 
bl izdkj ns; Fkh % 

 vkosnu ij (On application – Rs. 6 (including premium 

Rs. 3) 

 vkcaVu ij (On allotment – Rs. 5 (including balance of 

premium) 

 'ks"k nks ;kpukvksa ij (Balance in two calls.)  

 dqy 35,000 va'kksa ds fy, vkosnu feysA vkosnukas dks bl izdkj 
oxhZd`r fd;k x;k (Applications were received for 35,000 

shares. The applications were divided in the following 

groups) : 

 iw.kZr% vkcafVr (Group A - Applying for 5,000 shares 

allotted fully) 

 vkuqikfrd vkcaVu (Group B - Applying for 20,000 shares 

are made porata allotment for 15,000 shares)  

 'kwU; vkcaVu (Group C-Applying for total 10,000 shares 

are refunded)  

 Director while making allotment adjust the excess 

amount received on application against allotment 

money due. When second and final call were made, 
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shareholders holding 500 shares failed to pay the final 

call money. The directors forfeited these shares. All the 

forfeited shares were reissued at Rs. 9 per share.  

 vkcaVu djrs le; lapkydkas us vkf/kD; vkosnu jkf'k dks vkcaVu 
ds izfr ns; jkf'k ds izfr lek;ksftr dj fn;kA tc f}rh; rFkk 
vfUre ;kpuk,¡ ek¡xh xbZ rks 500 va'kksa dk /kkjd ,d va'k/kkjd 
vfUre ;kpuk ugha ns ldk rFkk mlds va'k tCr fd; x;sA ckn eas 
budks 9 #0 izfr ij iqu% tkjh fd;k x;kA 

 It is agreed that brokerage @ 3% and underwriting 

commission @ 3% will be paid for  

this issue. Claims for brokers and underwriters are 

satisfied by issuing to them additional equity shares of 

Rs. 10 each at a premium of Rs. 5 per share (without 

any cash payment). 

 ,slh lgefr gqbZ fd bl fuxZeu ij 3% vfHkxksiu deh'ku rFkk 
3% nykyh nh tk;sA nyky rFkk vfHkxksidksa ds nkos mudks 10 #0 
izfr ds lerk va'k 5 #0 izhfe;e ij tkjh djds gy fd;s x;s 
¼dksbZ jksdM+h Hkqxrku ugha½A 

 Show Journal Entries and the Balance Sheet of the 

company in the books of the company. 

 vko';d tuZy ys[ks cuk;sa rFkk dEiuh dk fpëk rS;kj djsaA 

UNIT – II 

bdkbZbdkbZbdkbZbdkbZ – II    

4. The Share capital of XY Ltd., consists of 10,000 Equity 

Shares of Rs. 100 each, Rs. 50 paid and 2,500 8% 
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Cumulative Preference Shares of Rs. 100 each fully 

paid.  16 

 XY fyfeVsM dh va'k iw¡th esa 'kkfey gS % 10,000 lerk va'k 
100 #0 izfr] 50 #0 iznÙk rFkk 2,500 8% vf/keku va'k 
100 #0 izfr iw.kZ iznÙkA  

 The Balance Sheet of X Y Ltd., shows assets (exclusive 

of goodwill) Rs. 15,00,000); Liabilities Rs. 4,00,000; 

Reserves Rs. 3,50,000 and Paid up Capital Rs. 7,50,000. 

The profits of XY Ltd. for the previous five years were 

Rs. 1,00,000, Rs. 3,00,000, Rs. 5,000, Rs. 2,00,000 and 

Rs. 4,45,000) Rate of tax 50%.  

 dEiuh XY fyfeVsM dk fpëk [;kfr ds vfrfjDr 15 yk[k #0 dh 
lEifÙk;k¡] 4 yk[k #i;s ds nkf;Ro] lap; 3,50,000 #0 rFkk iznÙk 
iw¡th 7,50,000 #0 fn[kk jgk gSA foxr ik¡p o"kks± esa dEiuh ds ykHk 
Øe'k% 1,00,000 #0( 3,00,000 #0 5,000 #0( 2,00,000 #0 
rFkk 4,45,000 #0 jgs gSaA dj dh nj 50%. 

 The assets and liabilities are accepted at Balance Sheet 

figures and there are no arrears of dividends on 

Preference Shares which in similar business yield a 

return of 6% under current market conditions. The 

normal yield on capital employed in similar business is 

10% and goodwill is valued at five times the purchase  

price of the Super profit.  

 lEifÙk;k¡ ,oa nkf;Ro iqLrdh; ewY; ij Lohdkj fd; x;s] vf/keku 
va'kksa ij dksbZ ykHkka'k cdk;k ugha Fkk ftu ij vke pkyw cktkj 
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ifjfLFkfr;ksa eas 6% izR;k; feyrk gSA ,sl O;olk;ksa esa yxh iw¡th ij 
lkekU; izR;k; 10% gS rFkk [;kfr dk ewY; vfr ykHkksa ds ik¡p xqus 
ds cjkcj fy;k tk jgk gSA 

 You are asked to value the Preference Shares and the 

Equity Shares in XY Ltd. 

 vkidks XY fyfeVsM ds vf/k;ku va'kksa rFkk lerk va'kkas dk ewY; 
Kkr djuk gSA 

5. Explain in detail with the help of example super profit 

method of valuation of goodwill. 16 

 [;kfr ewY;kadu dh vf/kykHk fof/k dks ,d mnkgj.k dh lgk;rk ls 
foLrkj ls fyf[k,A 

UNIT – III 

bdkbZbdkbZbdkbZbdkbZ – III    

6. H Co. was incorporated on 1st August, 2014 to 

purchase the business of M Co. as from 1st April,  

2014. First annual accounts of H Co. were prepared on 

31st March, 2015. On that date P & L Statement 

disclosed a net profit of Rs. 39,020 after charging the 

following expenses :  

 H Co. dk lekesyu 1 vxLr] 2014 dks 1 vizSy] 2014 ls M 

Co. ds O;olk; ds Ø; gsrq fd;k x;kA H Co. ds igys okf"kZd 
[kkrs 31 ekpZ] 2015 dks cuk;s x;sA ml frfFk dks ykHk&gkfu 
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fooj.k] fuEufyf[kr O;;ksa ds i'pkr] 39,020 #i;s dk 'kq) ykHk 
fn[kkrk Fkk % 

 Rent, Rates and Taxes Rs. 18,000; Electricity charges 

Rs. 4,500; General charges Rs. 5,000; Salaries Rs. 30,480; 

Bank charges Rs. 6,000; Advertisement and Selling 

Expenses Rs. 15,000; Packing and Distribution charges 

Rs. 2,000.  

 fdjk;k] jsV ,oa dj #0 18,000( fo|qr~ pktZ #0 4,500; lkekU; 
pktZ #0 5,000; osru #0 30,480; cSad pktZ #0 6,000; foKkiu 
vkSj foØ; [kpZ #0 15,000 iSfdax vkSj forj.k pktZ #0 2,000A 

 You may assume that sales are spread evenly over the 

entire year. You are further informed that there were 3 

employees in the pre-incorporation period, each 

drawing an average salary of Rs. 540 per month and 

there were 5 employees in the post-incorporation 

period each drawing an average salary of Rs. 600 per 

month. You are required to calculate the Profit of Pre 

and Post Incorporation Periods. 16 

 vki eku ysa fd lEiw.kZ o"kZ foØ; leku :i ls gq,A vki dks ;g 
Hkh crk;k tk jgk gS fd lekesyu iwoZ vof/k esa 3 deZpkfj;ksa ftueas 
ls izR;sd 540 #i;s ekfld osru ikrk FkkA rFkk ckn eas 5 deZpkjh 
jgs tks 600 #i;s ekfld vkSlr osru ikrs FksA vkidks lekesyu 
iwoZ rFkk lekesyu i'pkr~ vof/k;ksa ds ykHk dh x.kuk djuh gSA 
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7. Prepare Balance Sheet of a company with the help of 

imaginary figures. 16 

 dkYifud enksa dh lgk;rk ls ,d dEiuh ds fpB~Bs dks cukb,A 

UNIT – IV 

bdkbZbdkbZbdkbZbdkbZ – IV    

8. Calculate with the help of example : 8 + 8 = 16 

 mnkgj.k dh lgk;rk ls x.kuk dhft, % 

 (a) Cost of control  

  fu;U=.k dh ykxr 

 (b) Minority Interest 

  vYier fgr 

9. Write note on : 5 + 5 + 6 

 fVIi.kh fyf[k, % 

 (a) Pre-acquisition Profit. 

  Ø; ds iwoZ ds ykHkA 

 (b) Mutual Owning.  

  vkilh ns;rk,¡A 

 (c) Meaning of Capital Profits and Revenue Profits in 

case of Holding Co. 

  lw=/kkjh dEiuh dh fLFkfr eas iw¡thxr ykHk vkSj vk;xr ykHk 
dk vFkZ 

 


